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AT HE &% "H
EEIEE
1= 95,482, 881
Mg (-12m) (HE)
1= 95, 482, 881
BET
1= 42,286, 126
TS T7RET G5 T#% 25,006.00m 3, J35JEEMEEHBER) #HE 1.00X
1= 42,286, 126
T8I
1= 53, 196, 755
TEMERT TIEMIERE 25,006.00m 3. TEMRBEK 1,00
1= 13,287,179
BT IET T A 25,006.00m 3
1= 39,909, 576
e
1= 4,057, 890
BE
1% 4,057, 890
TILF E—LBIE
1= 4,057, 890
TILF E—LBIRE BIZ2E4E (ICT) 1.00=. #AHEME (1) 1.00=X. #AHEMK () 1.00=. #EET X b (ICT) (1) 1.00=K.
1% 4,057, 890 #EEET X k (ICT) (2) 1.00=K. AR CT) (1) 0.06k m 2, BIZFECT) (2) 0.06km 2.
RIFT—2ZEC) (1) 1.00X, BIT—2FECEETI) (ICT) (2) 1.00xX. EHEBEM 1.00xX
BRI
1= 267, 285
BIEEH
1= 267, 285
TILFE—LBIRE
1= 267, 285
BEEAGE 3RFTERET—Z VER (ICT) 1. 005EE%
1= 259, 500
BEERE EXARE 1.00X
1= 1,785
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1= 95, 482, 881
BiEISRE
1% 72, 336, 549
HEBEREE GH
1= 42,742, 496
HEBEREE (EL) EEBERBLERE. R2E. BEMEHE. KT - GESREH
1= 31, 359, 925
HEREE (R )
1= 10, 761, 039
HEREREE
1= 621, 532
HEEEE
1= 29,594, 053
IER
1= 167, 819, 430
—REEES
1=® 26, 813, 443
EHRILE
1=® 67,127
T E{@
1= 194, 700, 000
EEIEE
1= 4,057, 890
HRE
1% 2,952,110
BIEEEE
1=® 7,010, 000
B2 FEFEME
1= 7,010, 000
EER{
1= 267, 285
BEEAGE
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1= 259, 500
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1= 1,785
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1= 139, 740
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1= 407, 025
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1= 212,975
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1= 620, 000

AP EISME
1= 202, 330, 000




